

Θέμα 3F

A1. f_1 συνεχής άρα $f_1(1) = \lim_{x \rightarrow 1} f_1(x) = \lim_{x \rightarrow 1} \frac{x-1}{x \ln x} \stackrel{DLH}{=} \lim_{x \rightarrow 1} \frac{1}{\ln x + 1} = 1$

A2. $x^x = e^{x \ln x} \Leftrightarrow \ln x^x = \ln e^{x \ln x} \Leftrightarrow x \cdot \ln x = (x-1) \cdot \frac{1}{x \ln x} \Leftrightarrow \frac{x-1}{x \ln x} = 1 \Leftrightarrow f_1(x) = f_1(1)$
 $f_1'(x) = \frac{(x-1)' \cdot x \ln x - (x-1) \cdot (x \ln x)'}{(x \ln x)^2} = \frac{x \ln x - (x-1)(\ln x + 1)}{(x \ln x)^2} = \frac{x \ln x - x \ln x - x + \ln x + 1}{(x \ln x)^2}$
 $= \frac{\ln x + 1 - x}{(x \ln x)^2} \stackrel{\text{ερώση}}{=} \text{ερώση } \ln x \leq x-1 \Leftrightarrow \ln x + 1 - x \leq 0$
 ούτως $f_1' \searrow$ άρα $1-1$
 άρα $f_1(x) = f_1(1) \Leftrightarrow x=1$

B. $D_f = \left\{ \begin{array}{l} x \in D_{f_2} \\ f_2(x) \in D_{f_1} \end{array} \right. = \left\{ \begin{array}{l} x \in \mathbb{R} \\ e^{x+1} \neq 1 \text{ και } e^{x+1} > 1 \text{ και } 0 < e^{x+1} < 1 \\ e^x \neq 0 \\ e^x > 0 \end{array} \right. = \mathbb{R}$

$f(x) = (f_1 \circ f_2)(x) = f_1(f_2(x)) = f_1(e^{x+1}) = \frac{e^{x+1} - 1}{(e^{x+1}) \ln(e^{x+1})} = \frac{e^x}{(e^{x+1}) \ln(e^{x+1})}$

Γ1. $g(x) = \ln(e^{x+1}) - e^x, x \in \mathbb{R}$
 $g'(x) = \frac{1}{e^{x+1}} \cdot e^x - e^x = e^x \cdot \left(\frac{1}{e^{x+1}} - 1 \right) = e^x \cdot \left(\frac{1 - e^{x+1}}{e^{x+1}} \right) = \frac{-e^{2x}}{e^{x+1}} < 0 \Rightarrow g \searrow$

$g(\mathbb{R}) = (\lim_{x \rightarrow +\infty} g(x), \lim_{x \rightarrow -\infty} g(x)) = (-\infty, 0)$ άρα

$\lim_{x \rightarrow +\infty} g(x) = \lim_{x \rightarrow +\infty} (\ln(e^{x+1}) - e^x) = \lim_{x \rightarrow +\infty} e^x \left(\frac{\ln(e^{x+1})}{e^x} - 1 \right) = \lim_{x \rightarrow +\infty} e^x \left(\frac{e^x}{e^{x+1}} - 1 \right) = (+\infty)(-1) = -\infty$
 $\lim_{x \rightarrow -\infty} g(x) = \lim_{x \rightarrow -\infty} (\ln(e^{x+1}) - e^x) = 0 - 0 = 0$

Γ2. $f'(x) = \frac{e^x \cdot (e^{x+1}) \ln(e^{x+1}) - e^x \cdot e^x \ln(e^{x+1}) - e^x \cdot (e^{x+1}) \cdot \frac{1}{e^{x+1}} \cdot e^x}{(e^{x+1})^2 \cdot \ln^2(e^{x+1})} = \frac{e^x (\ln(e^{x+1}) - e^x)}{(e^{x+1})^2 \cdot \ln^2(e^{x+1})}$
 $= \frac{e^x \cdot g(x)}{(e^{x+1})^2 \cdot \ln^2(e^{x+1})}$ άρα το πρόσημο της f' καθορίζεται από το πρόσημο της g , όμως $g(x) < 0$ άρα $f'(x) < 0$

Γ3. $f'(x) < 0 \Rightarrow f \searrow$ $f(\mathbb{R}) = (\lim_{x \rightarrow +\infty} f(x), \lim_{x \rightarrow -\infty} f(x)) = (0, 1)$ άρα
 $\lim_{x \rightarrow +\infty} f(x) \stackrel{DLH}{=} \lim_{x \rightarrow +\infty} \frac{e^x}{e^x \ln(e^{x+1}) + e^x} = 0$ και $\lim_{x \rightarrow -\infty} f(x) \stackrel{DLH}{=} \lim_{x \rightarrow -\infty} \frac{e^x}{e^x \ln(e^{x+1}) + e^x} = 1$

Δ. $\ln 4 f(x) e^{f(x)} = e^{\frac{1}{\ln 4}} \Leftrightarrow \ln(\ln 4 \cdot f(x) \cdot e^{f(x)}) = \ln e^{\frac{1}{\ln 4}} \Leftrightarrow \ln(\ln 4) + \ln f(x) + f(x) = \frac{1}{\ln 4}$
 $\Leftrightarrow \ln f(x) + f(x) = \ln\left(\frac{1}{\ln 4}\right) + \frac{1}{\ln 4}$
 θεωρούμε $h(x) = \ln x + x, x > 0$
 $h'(x) = \frac{1}{x} + 1 > 0 \Rightarrow h \nearrow$
 $\Rightarrow h(f(x)) = h\left(\frac{1}{\ln 4}\right) \Rightarrow f(x) = \frac{1}{\ln 4} \Rightarrow f(x) = f(0) \Rightarrow x=0$